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1. Indicate thther the following resources are renewable or non renewable. (4 marks)

Resource ‘ ' Classification

a) Natural rubber

b) [Solar energy

c) [Soda ash

d)JNatural gas
2. State four ways in which the utility of a commodity can be increased. L ; 4 marks)
;) SO Veeserressenenennanins R
D) e 0 00 PV VOO
C)  ereeeeerertererte e e s e saaae e e e e et e b e erteneeresseereenneresrtsrrentaneane R RN tedasshvererssreenterernrensainaranes
d) ...... . e s ....................................
3. State four reasons why the governmenf issués‘tradeulicences. | (4 marks)
B)  foreereeiei ettt et e e r et et e et e s e st easese At ebeseea s ae e R et eat e R e ten e et et e bentes e s st seeterenseneaneneenennettuan
D) covrerieitee sttt sa st b et s et e et st e see e e e s e s et s e s h
) oot sttt e e et e s e st et e st e b e e et e e s s ianereeReeReeseerneR et e st ek ee Rt ereensensent ettt ontesesaeatenbenberesaserenaenees
4. Qutline four circumstances under which a partnership may be dissolved \ (4 marks)
B)  eeeereeeere et e ettt e et e e e b e st et e s e e Re s s e b e Rt R ae s e b e s e ressesonrentessert et e tesesaetansaene e e etene st eneseneneeraeaaeSEneneenee
D) et e et e s e e et e s AR bbb a s R e b b be R Rt er b ebeReas et ae sttt et ettt stens
), ererrrererei e bt SR ke R e e s e et 4 s sas s e A s a et eaeteReRseeebesese e e rt b e b e bertnens T
) ettt et b e et eh et b b e e ea e e e ne s e s et tese s te e erenentoninenen crreesspees
S. Identify the type of retailers described in the statements below. - (4 marks)
a) Retailers who carry their goods \;vith them and move from place to place. ............... |

b) Retailers who sell goods form a particular manufacturer who has given them a licence

........................

¢) Many shops / stores located in different towns which are centrally owned and managed. .....................

.............................................................

d) A large retail shop in one building under common manégement
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6. The demand for commodity x in a given area has continued to decline. State four factors that could
have contributed to this.

(4 marks)

7. Outline four reasons why an increase in per capita income may not necessarily lead to a rise in the

standard of living of the citizens.

(4 marks)

................
<

') R veereees trerreseesseeeeeseeaateeseeaterteasteatteaeataetesteraresteareeneeraeareeares verereraneraes trrereeetrreeeeesasebeaeeseaneenrasnesneban

d) e, S vveneee reesensestestresesesseserassasseesseseasatsresaresrensaesrrsnaes ceeerberreesterristaisteetessaentesraeeseasareeesnrestes

8. Highlight four measures that the government may take to-attract firms in an area. (4 marks) .

9. Outline four reasons why a trial balance is important to a business.

;) SR rreeveeeseeeaneaneeneereens veresreerereresesnresneens reetevineneassransnan revessbesvnsenivarris Gerievensessreinen trervervierenseeseierneiny

b) ............. vesesanssenn eresssnnsrnnsrsssonsnsersaree bearennevrassisiernatbertionssaiinssnssideenshoriiinirasarannodissdirsaiievhrdsiobbibbaborabirsaracnonessens nes

. R R O Wy - i Siia o Fia atenl e A X
C) crreseass sesasrorsersresssrasassesassnse sesevessensene sanaa sisneasnsresshasrsdinssnatenvesranedenasrvesiprarianseaarassrxiesbbrnresrsissiaseeiereriearrsenrrrrsraew

P N T P P Oy T T L ey R R T L TR P Ry

10. Using the balancé sheet equation, fill in the missing figures in the following table. (4 marks)

Capital (shs)

Liabilities (shs)

a)

20,000

Assets (shs)
25,000

b)

4300

8,100

c)

1950

3000

d)

28700

21,500
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d)

d)

....................................................................................................................................................................

....................................................................................................................................................................

....................................................................................................................................................................

...................................................................................................................................................................

...................................................................................................................................................................

....................................................................................................................................................................

e e e o na et s b ee e e n et ren s e eteeee o deunenasnesere00nesneeNteseriennetereenenseeeeeesyEeanastsneseetnetanessnetnetsesnennaneesesaseraoesnesareesstnontnnns

e e e L e R R Ry R LT L E L T 2L L U

...................................................................................................................................................................

....................................................................................................................................................................

...................................................................................................................................................................

14. State the type of insurance policy cover that Naliaka Traders should take in the following

circumstances. . o _ (4 marks)

Circumstances ' S Types of policy

To cover loss of profit due to fire outbreak in his SHOP...........co.o.evveeemeeeeeeeieeeeee e res e,
To cover claims by members of public against the business. ...........c.ccoceereeeerereseseeeesiveresrenennn T '
To cover loss of cash or goods through theft by his employees. .........ocovvvieureecriecrrnneen ........ '

To protect employees against industrial injuries at their place of work
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15.-Give four differences between rhonopoly and oligopoly market structure. = (4 marks)

Monopoly Oligopoly .

b)

c)

d)

16 In the space provided below, state whether each of the followmg transaction will increase. Decrease
or have no effect on capital.-

Transaction, Effect on capital

a) Purchased stock on credit

M R T T

b) Owner invested more cash into the bUSINeSS.  .......coeveeveeveeooeeoeeeeoeeooeoooo

¢) Payment to creditors

......................................................................................

d) Owner withdrew stock from the busix;ess for own use ..... T e esreninersssas
17. Outline four negative effects of an ageing population to an economy. (4 marks)
B) et sae s e e seeen Bt ra e e ae e e sba e e s aaeeebat e sneeeeaneeeateeneeesnnnesannes
L) OO SO OSSN SO ST
-c) O T A
d) e
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18. State the ledger in which the following accounts are kept.
Account ' Ledger.
a) Salesa/c

.....................................................................................................................

b) Cashalc

......................................................................................................................

C) Return OUIWAId @/C oot st sae s s s se et e e ae e st s me s nesut e b e be s besasesentenreasennes

d) Equipment a/c

19. Outline four components of a business plan. , v : (4 marké)

d) e ieetestesessesseseesessesteesereetesesseetisserentasertasesteststetaneetesertestanesanseantrereaasanianes rrenrrsnerennebesneaeetaes

20. Highlight four advantéges of after sales service as a method of sales prombtion to a customer.
, : S -+ (4 marks)
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...................................................................................................................................................................

....................................................................................................................................................................

...................................................................................................................................................................

e

...................................................................................................................................................................
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